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Answers to Exercises on Background Material

x> — 122 + 16
2(z* — 36) = 2(x% — 6)(z% + 6)
r=3o0orzc= —%
T > % orx < —%. Don’t assume you can solve as if it were an equation.
T —c
—_ = b =
z—c=ylb+a)soy P
3
. f(g(x)) = 42 — 120 + 11, g(f(z)) = 202 + 1 and g~(z) = f”;
b
a

(a) y= o

(b) e21n:p _ eln:z:2 — 1'2

Ly =224 2042

5 3

x—3 x—2
81 — 216z + 21622 — 9623 + 162*

1 — 4z + 1222,

18
202 + 4z + 11+ ——
r—2

f(—2) = 0. Therefore (z + 2) is a factor.
Intercepts at (—4,7) and (3,0)

(a) 1830 (b) 16.0 (to 3 sf)
2sin(z) cos(y)

z =0, %”, 4%, 27

1222 4 2sinx + 2w cos z + 22 + % (Using product rule for the second term)

Gradient is 0.

(_47 49)7 (%, _%)

l; — %sin2x+21nx+c.

lln r- 2‘ +c

4 |x+2

1 .

5(1 — In 2). (Integration by parts)

C;y = d?:z, so integrating both sides, Iny =Inz + ¢

ey = elnzte y = x.€° y = kx where k is an arbitrary constant.
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